Fraction of an Amount

Fraction of an Amount

la. Find the valve of the shaded parl.

1b. Find the value of the shaded part.

9.840

7,847

|
624

/
432

2a. Match each calculation to the
comect answer.,

T4 of 560 2,400
33 of 880 160
18 017,200 795
A 35 of 1,431 m |

2b. Malch each calculalion to the
comecl answer,

25 of 891 198
a0 of 3,520 810
2% of 2,020 2,200
35 of 972 1,645

3a. Complete each statement using =, =

3% of 3,000 % of 2,976
% of 900 2—"2 of 2,200

3b. Complete each statement using =, =
nr -l

8 12
15 9
a5 of B55 7 of 1,728

4a. Complete the following stalements.

;—B of 1,820 =

% of 945 =

4b. Complete the following statements.

of 1,272 =

Bl=

of 352 =

.h.lh:
Y [=]




